Pp =98

dch =30

dIcA: 10

1
o

SCp -
tly = 6min
2, = 4min
t3p = 4min
t4, = 10min
Xpp = 2100

XSp 1= 2100

Variable Costing Based on Production Time

IMCf := 3820
POH1f := 28600
POH2f := 11480
POH3f := 27540
POHA4f := 10600
ACf := 76326
SCf := 114489

DMC:= dmcpBpp + dmegXpg
DMC = 191000

IMCv := 0.03[DMC

IMCv = 5730

pohlv := 0.5min 1

pg = 107

dmeg = 32
dicg =8

speg = 2

tlg = 4min
t2g = 2min
t3g = 3min
t4g = 8min
Xpg = 4000
xsg = 3960
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Variable Costing Based on Production Time

imc mEﬂmc
imcp = 0.9

POH1v
pohlp =

POH2v

POH3v

poh3, = 1.8

poh2v := 0.3min 1
. =1
poh3v := 0.45min
. =1
pohdv := 0.3min

POH1v :

pohlv(ilaXpp + pohlvilgXpg
POH1v = 14300

POH2v :

poh2v2p Xpp + poh2viRgXpg
POH2v = 4920
POH3v := poh3viBa Xpp + poh3viBg Xpg
POH3v = 9180

POH4v = pohdviA, Xpy + pohdviAg Xpg

POH4v = 15900
. IMCv
imeg = ———
DMC

imcg = 0.96

A pohlg =
pohlg =2

A poh2g =
poh2g = 0.6

A poh3g =
poh3g = 1.35



Variable Costing Based on Production Time

POH4v POH4v
7N pohdg =

pohd, =

pohdp =3 pohdg = 2.4

mcp = dmcy +imcp + dicy + pohly + poh2p + poh3, + pohdp + spep
mcg = dmcg + imcg + dicg + pohlg + poh2g + poh3g + pohdg + spcg

mcp = 499 mcg = 49.31

M COGSA ‘= mc ADtsA M COGSB = mcg DtsB

MCOGS, = 104790 MCOGSg = 195267.6

MCOGS:= MCOGS, + MCOGSg

MCOGS = 300057.6
ACv := O[MCOGS

SCv := OMCOGS

A~ Mgg\(/;smnCA B~ Mgg\(/;smn B

acp =0 acg =0
SCv SCv

A~ Mcoes A B~ Vicocs B
scp =0 scg =0
tCp i= MCp + aCp + SCp tcg '= mcg + acg + Cg
tcy =49.9 tcg =49.31
CMp = pp —tcp cmg = pg —tcg
cmp =481 cmg = 57.69
Cost-of-sales results accounting
CMp = cmp Xsp CMp = cmgl¥sg
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CM, = 101010 CMp = 228452.4
CM := CMp, + CMp

CM = 329462.4

Cf := IMCf + POH1f + POH2f + POH3f + POH4f + ACf + SCf

Cf =272855
R:=CM - Cf
R = 56607.4
Total cost results accounting
Sp = PaXsp Sg = pglXsg
Sp = 205800 Sg = 423720
S:=85+Sg
S = 629520
ICp = chE@pr - st) ICg = chE@xpB - st)
ICp =0 ICg = 19724
IC:=1Cp +1Cp
IC=19724
TPA = SA + ICA TPB = SB + ICB
TP, = 205800 TPg = 425692.4

TP:=TPp + TPy

TP =6314924
MCOPp = mcp Xpp MCOPg = mcgXpg
MCOP, = 104790 MCOPg = 197240

MCOP := MCOP, + MCOPg
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MCOP = 302030
ACVA = &:A&SA ACVB = &:B&SB

ACvp =0 ACvg =0

ACv:= ACvp + ACVg

ACv=0

SCv:= SCvp + SCvg

SCv=0

TCOP, := MCOPp, + ACvj + SCvp TCOPg := MCOPg + ACvg + SCvg
TCOP, = 104790 TCOPg = 197240
TCOP:= TCOP, + TCOPg

TCOP = 302030

CMp = TP, — TCOP, CMg = TPg - TCOPg
CMj = 101010 CMp = 228452.4
CM := CMp + CMg

CM = 329462.4
R:=CM - Cf

R = 56607.4
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Variable Costing Based on Production Time

Legend:
Subscript A, B for products

p = Selling price

dmc = Direct cost of materials per unit

dic = Direct cost of labour per unit

spc = Special direct production cost per unit

t1 = Production time in Direct Production Cost Centre 1 per unit

t2 = Production time in Direct Production Cost Centre 2 per unit

t3 = Production time in Direct Production Cost Centre 3 per unit

t4 = Production time in Direct Production Cost Centre 4 per unit

Xp = Quantity of goods produced

xs = Quantity of goods sold

IMCf = Fixed indirect cost of materials

POH1f = Fixed production overhead 1 (in Direct Production Cost Centre 1)
POH2f = Fixed production overhead 2 (in Direct Production Cost Centre 2)
POHS3f = Fixed production overhead 3 (in Direct Production Cost Centre 3)
POHA4f = Fixed production overhead 4 (in Direct Production Cost Centre 4)
ACT = Fixed administration cost

SCf = Fixed sales cost

DMC = Direct cost of material

IMCv = Variable indirect cost of material

pohlv = Variable production overhead 1 (in Direct Production Cost Centre 1) per minute
poh2v = Variable production overhead 2 (in Direct Production Cost Centre 2) per minute
poh3v = Variable production overhead 3 (in Direct Production Cost Centre 3) per minute
poh4v = Variable production overhead 4 (in Direct Production Cost Centre 4) per minute
POHL1v = Variable production overhead 1 (in Direct Production Cost Centre 1)
POH2v = Variable production overhead 2 (in Direct Production Cost Centre 2)
POH3v = Variable production overhead 3 (in Direct Production Cost Centre 3)
POHA4v = Variable production overhead 4 (in Direct Production Cost Centre 4)
imc = Indirect cost of materials per unit

pohl = Production overhead 1 per unit

poh2 = Production overhead 2 per unit

poh3 = Production overhead 3 per unit

poh4 = Production overhead 4 per unit

mc = Manufacturing cost per unit

MCOGS = Manufacturing cost of goods sold

ACv = Variable administration cost

SCv = Variable sales cost

ac = Administration cost per unit

sc = Sales cost per unit

tc = Total cost per unit

cm = Contribution margin per unit

CM = Contribution margin

Cf = Fixed cost

R = Result

S = Sales (value), turnover

IC = Change in inventory of finished goods

TP = Total performance

MCOP = Manufacturing cost of goods produced

TCOP = Total cost of goods produced
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